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I challenges to X1on "v’s ruling that the days of ny-x are reckoned towards mm (as long as there are 30 days

afterwards)
a  Xnnaonifa nis Rnv pao and (09Mn) YN pav, he may eat Wy after 60 days and is released from my
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Explanation: cannot shave for ny % until 30 days since he may not be a »71¥n, cannot shave for another 30
for nkmY, since he may be 711v; he must then keep another 30 days; he isn’t yet released, since he may
have been &nv and this 274 shaving is nkmv nn%n; after 90 he isn't yet released, since shavings #1 & 2
may have been for ny1x and this may be for nxrmv — after 120, all is accomplished in any case

Note: if his m7m was 1 year, he eats n'w1p after 2 years and is released after 4

Point: if his days of ny7x counted, he should require only 3 years and 30 days

YOR 17: 1297 W10 proves that 019N '’ don’t count towards his mn
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However: his days of 13on (quarantine) do count (as do days of nar)
1 Reason: there is no nnYn waiting at the end of that process

Conclusion: the days of noomn ny7x do not count (contra XTon ")

II 17 mwn: 8™ reports in the name of ywin> "

any of class “A” nrmY ("2 mwn) — that would generate nkmv NNYin — generates liability for entering the wpn
any of class “B” nn nxmv (2 mwn) doesn’t generate that liability
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note: R originally heard it in the name of 5nn 72 Y1

observation: when reporting a transmission, we always state the originator of the tradition and the
immediate trident (but not the “middlemen”)

1 proof: 1:2 nRa with tradition going back to *»va nwn, but skipping generations in between (yvi)

Dissent: n™ — class “B” nn n&mv (7-day n®mv requiring ‘11’3 nXkrn) shouldn’t be less severe than 7w nxmv
II 27 mwn: y™’s argument in favor of yan nkmv for 0T NY»a7
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if: 7w o¥y, which isn’t YnRa Rnvp, generates M for a 1 if he touches it,
Then: o7 no»23, which is YnRa &non, should certainly generate m% for 71 who touches it
1 Response (¥”1): cannot apply 1”p reasoning to (n"n%) na>n (confirmed by ywin» ")
question: which is the na%n and which is the v/p?
1 Lemmal: nyw) DxYy (generating nn nkmv via yan only) is na%n
(a) And then: o1 Y2111 is (attempted to be) inferred via 1p
2 Lemma2: 07 oy (that a 111 shaves for being in an Ynx with it) is na%n
(a) And then: infer from nmyws pxy that a n’»»a7 should be yana rnvn
3 Answer:lemma 1 is confirmed by &n»a
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